Student Edition

Mathematics
Grade 5

Quiz A: 5.NBT.A.2

1. Which expression is equivalent to 8207
A. 82x1
B. 82x10
C. 8.2x10
D. 8.2x10°
2. Which expression represents 837,000?
A. 8.37x10°
B. 8.37x10°
C. 8.37x10*

D. 8.37x10°

3. Leo multiplies a number by 103. The productis 27.2. If Leo’s multiplication is correct, what is the other factor?

A. 0.0272
B. 0.272
C. 2,720
D. 27,200
4. Write your answers in the spaces provided.

In the product of 8.4x10°, the decimal point moves

places to the

from 8.4.
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